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QUESTION 1

Which three statements are true about the purpose of perspectives? (Choose three.)

A. Perspectives can be used to define user privileges.

B. Perspectives can be used for categorizing Financial Reporting Compliance objects.

C. Perspectives can be used to represent regional hierarchies.

D. Perspectives are used to enable data security on Financial Reporting Compliance objects.
E. Perspectives enable functional security in Financial Reporting Compliance.

Correct Answer: CDE

QUESTION 2

Which two would need to happen in order for Advanced Access Controls (AAC) to automatically assign a status of
"Closed" to an access incident? (Choose two.)

A. The incident is resolved in Fusion Cloud and a subsequent evaluation of controls finds that the incident no longer
exists.

B. A global condition was added that resolves the conflict and a subsequent evaluation of controls finds that the incident
no longer exists.

C. A user sets the State of the incident to "Remediate".

D. The incident is resolved using simulation in AAC and a subsequent evaluation of controls finds that the incident no
longer exists.

E. A user sets the Status of the incident to "Resolved".

Correct Answer: AC

QUESTION 3

You have defined an initial Perspective Hierarchy for your client in the Advanced Controls module. After refining their
business requirements, your client wants to expand the existing hierarchy to include 150 perspective items in various
levels. For efficient processing, you decide to use the GRC data migration feature to import the new items. Which three
are valid processing steps required to define the export file? (Choose three.)

A. Navigate to Risk Management Tools > Setup and Administration > Data Migration, and select Advanced Controls.
B. Generate Template as Without Data.

C. Navigate to Manage Module Perspectives.

D. Generate Template as Without Data ?Perspectives Only.
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E. Click the Create Import Template button.

Correct Answer: ABC

QUESTION 4

You have created a risk definition R100 and have created a new control C100 for this risk. No user has been assigned
the Risk or Control reviewer and approver roles. What will be the state of R100 and C100 after submitting?

A. Both R100 and C100 will be in the "In Review" state.

B. Both R100 and C100 will be in the "Awaiting Approval” state.
C. Both R100 and C100 will be in the "Approved" state.

D. Both R100 and C100 will be in the "New" state.

Correct Answer: B

QUESTION 5

What would happen to an access incident in Advanced Access Controls (AAC) that has been remediated and has a
status of "Closed," but poses a conflict again during a subsequent evaluation of controls?

A. The incident is deferred.
B. The incident remains in "Closed" status and additional remedial action cannot be taken.

C. The incident remains in "Closed" status and assigned users receive a notification that additional access incidents
have been identified.

D. The incident is copied and a new incident is created based on the original incident.
E. The incident status changes to "Assigned."

Correct Answer: CE
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